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1. Select the correct answer from the following :
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(a) The wave function V\fhich is acceptable
in quantum mechanics is

1 (i) = x>
(iii) W =sinx (iv) y=e*
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pyramid molecule, discuss symmetry
operations in  Cg, point  group
molecules.

What are the main differences between
VBT and MOT?

Show that the function
= cosax cos bycoscz is an eigen-
function of the Laplacian operator. Find
the corresponding eigenvalue.

Show that the length of a one-
dimensional box is an integral multiple
of A/2, where A is the wavelength

associated with the particle wave.

Calculate the expectation value of p,
(linear momentum along x direction) for
a particle in a one-dimensional box of

length a.

What do you understand by the terms
‘eigenfunction’ and ‘eigenvalue™?
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i Assuming the value of the
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(@) Setup the
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(@) Calculate the probability deTsLllt:’ of
a ls-electron at the nucle
H-atom. Given
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Predict its magnetic
character.
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